Run 5912 quartetwise, posHQ: Beam DH
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Run 5312 quartetwise, asym0Osub: Beam ON
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Run 5912 quartetwise, negHO: Beam DIN
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-------- Histogram Vars

Positive Hel (ON): 12.969663 +/- 0.003167
Negative Hel (ON): 13.573730 +/- 0.003322
Positive Hel (OFF): 3.768335 +/- 0.001381
Negative Hel (OFF): 3.769119 +/- 0.001385
-------- Sums and Diffs

On Diff: -0.604067 +/- 0.002257

Off Diff: -0.000784 +/- 0.001695
On Sum: 26.543393 +/- 0.006086

Off Sum: 7.537453 +/- 0.002186
-------- Asymmetries
On Asym: -31.783064 +/- -0.119235 (ppt)
Off Asym: -0.041239 +/- -0.089160 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 19.005940 +/- 0.006467
BkSub Asym: -31.741824 +/- 0.148884 (ppt)
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Run 5912 quartetwise, posHO vs time
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Run 5912 quartetwise, asym0Osub vs time
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Run 5912 quartetwise, negHO0 vs time
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Run 5912 quartetwise, bcm vs time
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